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@ (3x*-2) (x+1)(x-1) @ (3x2+2)(x-1)(x-1)
® (3x2+2) (x+1)(x+1) @ (3x2+3) (x+1)(x-1)
@(3x2+2)(x+1)(x—1)

B

A=x*2 %5t
(F£4]) =342 -A-2
=(34+2)(A-1)

(3x2+2) (x+1) (x—1)




2. x40 -2 fax + b7t oA O] AT A 0] E W, A4 a,b 9

;27
@ a=12b=9 @az—lQ,b:Q
® a=12,b=-9 @ a=-12, b=-9

® a=9, b=12

a4 -2 +ax+b= (P +px+q)? =2 EOH
o] 2] Sl

x* +2x%(px+ q) + (px + ¢)?

= x* +2px3 + (p? + 2¢)x* + 2pgx + ¢*

I A4-E v wsHH

2p =4, p>+2q = -2

p=2, ¢=-3°A

a=2pqg=-12,b=q¢*=9




3. 2x2 4+ 22+ 5xy—x+y-19 A5 ALY

@2x+y+1 @ 2x+y-1 ® 2x-y-1

@ x+2y+1 ® x-2y-1

2x% + 2y +5xy—x+y-—1
=2x2+ (5y—1Lx+ (y+1)(2y—-1)
=(x+2y-1)2x+y+1)




ojztgte] A7t 191 F o]z o] g oFrt x - 2, AT 4T}
- Tx+ 64 o,
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@2x2—2x—4 @ 2x2-7x+4 ® 2x2+3x+6

@ 2x2-5x—-4 ® 2x> +6x+4

5 o442 A, Bet 3

= (x-2)a,B = (x-2)b2} oA}

= (x-2)(x+3),B=(x-2)(x-1)2 2 5 .
LA+B=2x*-2x-4




x,y, 27 AFZE O] Al ] 2] dolo|al, xz2 —yz? +yx® +zx2 —zyt—xy® =0
S WET o, o] 4P ofH HAFA?

O AFAEAA AAYAY @ o7 A H27HY
@x — yol o] 51tz @ y=z3 ol 5HAZS

22 -y +y? + - g® —xy* =0
(x=-92+ (@ -y)z+ (x-y)xy=0
(x=Z+ (x+y)z+xy}=0

(F-ME+x)E+y) =05 x=y (-5 y, 25 BF F5)
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O p=gq @ ptqg= ®p=q+1
@ pg= O)p+q=-1

~&B

Uz Zelof oJofl x =a & HYSHH a® + pa+q=0, o+
ga+p =0 °|t}.
FAS W, (p-gla-(p-9q) =0, (p-q)a-1)=0ep=gq

TEa=1

p = q°l¥ HANFFF7t x? 4+ px+ ¢ 7F HBE, 270 TA]
O_l—1_—-_q.
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